AL YOU NEED T0 kNow Agoyr. .. Paper 3

Structure :' This Booklet I

PapersBir 15 raimis in 3 parts: | Part {5 to help you with general f@lelad)theptqlsnae'
|1 answer the exam style questions.

Sectiois An yourefgadee will go through this in class 1! i . 1
1! Part B on our fieldwork to Brindley Place and Car

Sectiors Bn general fieldwork |

Sectiors Gn our fieldwork to Brindley Place and Cardin

Part dSection A Pé&datneral Fieldwork

I
1
I
1
Strand 1: Selecting a Suitable question for geographical enquiry:
1
I
1
I

Types of enquiry
An enquirigypothespeeatibat you set out to provEheydispeoeéher physicalatut@iman in

1 physical enquiries will look at natural landscapes, eg rivers or coasts
1 human enquiries will look at environments that are created by people, eg cities or tourist rd

In the e@gou may be required to come up with poua pietuhgrpotihe peadbiased

Fieldwork Ideas: TASK
What ngg pictu?e of

What can you see in

What processes could be happening here?

Questiomﬂgesptvyeical enquiries a student could investigate in this location

1)

2)

Things to consider:
Groyide® they work?

Sea Walls? Does it work?
Sand Ddeessystems?



What Insg pictu?e of

Quesﬂomggest two physical enquiries a student could investigate in this location

1)

2)

Things to consider:

Risk Assessifemiwork has associated risks. Risk assessments help to understand ¢dgewikingcibHisige!

What can yiommsed he pi ctur e t

What processes could be happening here?

Think about ourdlbeionias the Bradhsaw Model (Z1 &n knowledge organiser)
How fast is the river?s it steep ld&héfat Course
How wide is the rivet?ow much sediment does it have?

StrandSElecting a Suitable guestion for geographical enquiry:

1

1

1

1

| streams or caeyisigeerpguipment through areas of high crime. A good risk assessment ngslso consider
1

1

1

QUESﬂOﬂJtIine one factor that would nd : Example from a risk assessment to help
considered when deciding whettadn¢hieldiead |

»

to be undertaken [2 Marks]

oo e mm o Em Em Em Em o EE EE EE EE EE EE EE EE EE EE EE EE EE EE EE EE EE O EE EE EE EE EE EE EE EE EE EE EE Em Em Em Em Em Em Em

Use either photograph from Q1.

High river level, flow, debris in water

Injury

Narrow Waterway
Collision with other canal users

Participants, stewards,
instructor

Participants, stewards,
volunieers, contractors,
general public

Participants, other canal
users

1. Review river levelflow prior to event
2. Slow sweep of area to identify debris
3. Postpone event if river level or flow to high

1. First aid cover provided

2. All paricipants to carry mobile phone &
emergency contact in case of incident

3. Emergency access points o be idenfified in
case of incident.

4. Appropriate footwear to be wom

5. Emergency services aware of your event

6. Support vehicle/team available

1. Participants to be given full safety briefing
before the event.

2. Coach fo keep group in close formation at all
fimes.

3. Group to fravel canal right

4. Group to travel in single file past anglers and
keep clear of lines

5. Identify procedure for avaiding anglers and
moving boats




|
! Area 2: Methods:
1 Strand\Veasuring recording data appropriate to the chosen enquiry

What are methods?
Methodelbgscribguatity the way that the datiectald be

Justify means explaining why the techniques you chose were suitable and athetleay ladaliatesdh
collects primary or secondary data.

. &

Questiddetify two datateohedioes that could be used to carn
fieldwork investigation in one of the areas shown

Area Chosen:

Technique 1:

Figure 7 — part of an urban area

TipsJse your knowled@evbaganatbiods did WE use and could

1
1
1
1
1
1
1
1
1
1
1
1
Technique 2: I
1
1
1
1
1
1
1
1
1
1
1
1

| Area 2: Methods:
1 Strand\Veasuring recording data appropriate to the chosen enquiry

Sampling Strategy:
The collection of data should also avoid bias and this is done through sarpphigg techniques. Therg

Random saafainiong a person to interview or site to measure, at random. Random samop kipg csfical
selected. :
Systematic sawifgirtgng data in an ordered or regularovayeeg fédtre petsoretres :
Stratified sardplidipg sampling into groups, eg three sites from each section of coasthite @i
stratified samplmglovitrand systematic sampling.

i Stratifiechdom saraplitogn samples are taken from within certain categories.

i Stratified systematicegatapleagnples are taken from within certain categories



I ; _—
1 Sampling Stf#8&match up the definition to the term || Queasti/ou are completing a|
I 'l survey, what sampling strate'
: Random Sampling The relevant characteristics are idevtified |: and why? |
) on the basis of the questons +o be asked 1 1
I g.8y, membership or non-membershie of an I |
I oraanisation, female or male members, A 1 |
I list is +hen drawn up for each subgroup I 1
[ and respondents chiosen within each, 1 !
| N !
I Systematic Sampling One method is +o give each unit 4 wamber, | 11 I
1 write the wambers on individual slips of h !
1 paper, put them in a bag and mix the clips h !
! wp thoreuahly, and then drawe out the : 1 :
: nimber of clips required. I: I
I I
: Stratified Sampling There are wany possivle systems |: I
I e.4). oy taking every Teuth name for every I I
I fiftH vawme I I
E:::::::::::::::::::::::::::::::JE:::::::::::::£
I I
! What type of sampling invelves getting datain an What type of sampling is when random samples are taken !
: unplanned way? from within certain categories? :
I O Systematic 0 Random !
I I
I Stratified Systematic stratified 1
I ) I
I i Random stratified 1
I I
. . I
- T Tttt T T T T T . - -T--- === =-=-=-===-====7
1 Area 3: Data Presentation Techniques: !
I . . . . .
, StrandS#lecting appropriagtecesss@i& presenting fieldwork data !
i :
: I
_______________________________________________ "
l Data Presentation: !
I
1 |
: Data preseatiatata tables are difficult to interpret and so data must be presented t
; useful as they help to see patternsvathity pledaof@napker chart to use. Accurate pre;
: conclusions to tHaaémthetyis badly presented is very difficult to understand. :
1 |
1 |
1 |
1 |
1 |
Le - - - - ————— M M M M e L Lo |
= _-_———_——_ T T T T TR T T TR TR TR R R RO OER R R R ——————— I
! Task l
! I
! I
I .
, For each data prese(gasipriuwtipete the table containing advantages and dlsadva|1I
! I
! I
! I



Graphical Skills: Paper 3

10+
9
84
Bar graphsar graph is a way quiantitigequencidgferent categories. The bars he 5L
them because they are uncopoedteduiminegraéow large datandetstimisies cambe g 3:
quickBar graph are less effective then line graph when trying to show trends o £ 3
5
al

0- = %} > %] = 7]

28 2 £ £ 2 =

25 § 8 & 3§ 8

Advantages Disadvantage = -

Plant species

e A bar graph

e A divided bar graph
504

Divided bar graphs ] I o
It is possible to subdivide individuatitiplsia ol ¢énecCshapv C theliva & ™| =
to show differeritispecias.be harder to read. 7

10 23 33 44 108 200
Number of years

Number of species

Advantages Disadvantage O e T RS

B Low shrubs and soft-stem plants/herbs

Histograms

A histograms uses bar but with NO gaps batoméndtes(riietalsesr shomhs)
may be all paihgleasdmgtible sizes). They are visually very strong to show a Frequency
are gredijt can be hard to read figures. (%)

b

Advantages Disadvantage cEE EEEEE EEESE
£88 8 8 888 & & &S
gv—'m'lri'\.'oi;:'m'to'[:'oig“‘
§ «voadd 3428

6 A histogram
Pie chastmple circle divided into segments using a %, like the slices of a pi
. . . . Renewables Other
percentage figures are often written alongside (e.g. energy use in the UK). T 11.3% 2 5%
show percentagesiateristinmissing.
Advantages Disadvantage
Scatter griaph sets of data are thought to be related, they can be plotted o
drawn to show the trend, if there is one. The line of best fit should pagsahhst
- . . . . Q
great for showisgalbyif tiidnere is a trend between yattedatagbatrs €annot gi 5 20
extent of corgeldtibnan only show 2 sets of data at a time. é;? '
o
g4 Best fit line
% X
§ 1.0+ X X
2 -
Coc All points lie on the N & Points close o best-fit P S . . .
correlation T best-fit line cjr?:]::im TB line. As one variable 10000 20000 30 OO_O 40000
— increases, the other GNP ($ per capita)
== 2
decreases. 0
Advantages Disadvantage
PoSHtiG T . Points close to best-fit %% %
Conalation g * e B0 veratle Poor T “. Points suggest no clear
— mt;reases, so does the correlation ¥ pattern.
other.



Choropletih mhapspleth map uses different colours to show the distribuitm
you can see that the darker colours, shewiEhthaighegtaralwesy easy to under
spatial distributions of data quite well. A disadvantage is that the data vatues

World HDI rates «
Advantages Disadvantage Qogiouge s
¥ 0.547-0.690 o
0.408-0.546 v )
Less than 0.408 v 7

No data

people. The density of the dots shomarﬂhamg.lmytgmmlfanmptpmg spatlaaé i
accurately place a dot in an exact area

Advantages Disadvantage

1 dot represents §
/ 100000 people ;,f

Isoline Aapsline map uses line of equal values to show patterns. They are g
pedestrian counts. The map opposite shows pedestrian counts in Blackbura. C
higer and on the other side Thalh&aladeal change and patterns oveuadargeqsy
large amount of data to plot accurately.

Advantages Disadvantage

L)|e5|re line &S lines show movement of people exgoupls fighvie&omiateal ]
destinafitwes. are greh@wgolume and direction lnéymmvigrakaiv direct movearehit § -~
have lots of lines they can become difficult to read.

Advantages Disadvantage

0 Desire line map of international flights from Heathrow

low line maps
Flow lines indicate direction and volume of movement, with thickness represen
movement with the arrow pointing to the area they are moving too. Desiredings ke s 05% S e
of a country) wherirees wiflgroup all these flights as one arrow to that country) =

Advantages Disadvantage

6 Flow line map showing the origin of tourists to Kenya

Proportional symbodsai symbots (e-g. circles) are a usefut way to Show data on & @ i win proportona cicies

amount of Toffercoasters per US statg). However, i order to achieve a clesstortage, th

'® >

® 3 ® ’*
e (] ] . @ g.
2 [ J
Advantages Disadvantage . ‘ - @ e g3
® o |o o/
. le | @ ‘ /
) U
e 4
- ®
Total number of roller coasters per state A
72 .20 @®@° o5 - 0 N 1000
==




11 : .
! A student used the following presentation method (Figure 7) to show the information in | 1 | ueStlmg_ges_t a more approprlatmglefﬂq
! Figure 6 11 data shown in Figure 6. I
: Figure 7 I 1 7IP: What graph is good for quantities :
11
! 350 11 :
I 300 ' I
I 250 1 Questi@iv8 a reason for your choice. |
: Visitor 200 1 1 !
numbers ] |
| (' |
1 100 I I
1 50 1 ;
: 0 | !
; oo'*’&@" SECHC O, ﬁ’%\@"e} \c\"g\ & @‘f} | !
| w QE’Q ‘?‘I:JE:S-‘:' oF éc-\a""gcua I I 1
| Month 1 | :
L e e e e e e e = I o e e e e e e e e e e e e e e == 1
I OuestiGusiest 2 more apbropr e [ [
| M @es_ a more appropna ch : Figure 8 is an isoline map of pedestrian flow in part of London using results from a I
1 data shown in Figure 6. 1 , 5 minute pedestrian count 1
|
| _ I
I I : Figure 8 I
| ! ) | Key !
| ! I Pedestnan flow 1
| ! * Number of |
| 1! pedestrians I
11
1 . . . — 100 —— |S0lin !
1 Questioadhiplete the isoline for 100 ped : S I
I Figufase the plot points to make an estim: I :
|
| ! : N 1
| ! ! |
: 1! |
I 1! 0 250 500m 1
I I I | I
I 1! |
e e e e e e e e e = - — L e e e e e e e e e e e e e e e e e e J
e el e e e e e B e i e e e e R e i |
: aSk Study Figure 5, two sets of data collected by students who were carrying out a human geographical 1
enquiry in a city centre 1
! H igure |
1 Which type of method from the _ Fleures | |
I I . h . b kI Id b Pedestrian Counts Why people were in the CBD (/100) I
I examp eS In t IS 00 et Wou e a Distance from CBD (km) Count Shopping 54 I
| QOOd ChOtbe ﬂ]ﬂﬂlOW’) 0.0 54 Lunch Break 19 I
1 0.5 37 Recreation 17 1
1 1.0 23 Transport Links 8 1
! 15 7 Walking to Work 2 |
: 2.0 2 |
! |
! |
: — . l
I Data Shown in Figure 5 Presentation Method I
: Pedestrian Counts :
1 Why people were in the CBD (Not isoline) |
! |
! |
: TIP for pedestridmisararts is comparing two sets of data (in order to see if the amount of peppvehdt creasel
| for comparing 2 sets of data? !
1 TIP for people il@@Bita is giving you an amount out of 100. (They fact thawtias [sesdrdaiion gietsordis aﬁ:
| percentages?) I
! |
! |
! |



I ;
Questioaxbin why youpcessetii®n methods for the data above

I Question 12

Study the map showing the movement of individual people from their homes to a town cenire

Key
O Town centre

+ =

(a} Mame the type of map used.

Shade one circle onky.

A Proporional symbal @
B Flow line [=]
C  Desire line E
D Choropleth [=]
(1
(b}  Plot the following information on the map.
A person travelled 2.5 km from the south-west.
(2)



- AreadAnalydislgiwork

, andse accurate geographical terminology

How do | process data?
Processing data is manipulating it to make it more useful. There are many ways to process data,

|
|
|
l Analysieok at the results in detail and discuss patterns. Are there any clear trendes::
|
|
|
|

Ratits show a relationship between two sets of data, and are shbmwaernNRMBbewwmmICWem'

number of people per doctor.

Proportiamsh similar to ratio, but are writtengsligintly,Gdifeopottiioles would be useful to illustrate, eg
area.

Averages, or measures of central texkéenoythaee chiferentiyways:

Mearmdd the total of all values that have beele tnylldwtatuanoetheivdiues.

Medianrite out all of the numbers that have been collected in numerical order and find the middle
Modéhe most commonly appearing value within the data.

I
I
Rangéhe Range is the difference between the lowest and highest values. Exampléi¢/ihést & 9, S;::

range is®=6.

|

1

|

1

|

1

|

1

|

1

|

1

|

1

|

1

|

1

|

1

|

: Interquartile-Réwmgeaterquartile range is the difference datvwklenveérequpptequartil
]

1 To calculate the interquarti_lé‘i;}z{hg_e‘fél@R)(:-iJ !

I EGFind the median, lower quartile and upper quartile for the following data:

! 3. 4,4, 6,8, 8, 10, 10, 11, 12, 31

: 1 In order to find the median, we need to put the numbers in order first.

I T 344 6, 8, 8, 10, 10, 11, 12, 31

1 1 Median=38 Lower Quartile = 4 Upper Quartile = 11

: 1 IQR7 (UpperdQower Q-4 21

|

1

|

1

|

1

|

1

|

1

|

1

|

1

|

Percentagpgsh can either show proportions or change over time. teesgelaadesevauldib@nsead.to |

Percentage @hakgd:out by dividing tlenchardyy ithéheriginal amount and multiplying by 100.
Eg 9 apples to 20 apples = a % change of 110% (11/10x100

It is important to think about how to justify why the data has been processed in a particular way.



: Mean / Medlan / MOde River enquiry, April 2015 !
. |
1 Question 13: Stream flow I
! Date of the Flow |
1 month (cumecs, approx.) 1
1 4 4 1
I Complete the following table by using the stream flow data. 5 3 I
| 6 5 1
! Mean 50 7 3 |
! 7 I
1 Stream flow Median g ] I
| 10 6 |
1 Mods 1 5 |
1 12 4 1
! 13 4 1
I 14 3 |
! 15 5 I
1 16 6 1
1 Cumecs = cubic mefres per second |
| 1
[ o T T T T T T T T T T T T T T TS EEmmE—— b |
N N Study the topological map showing variation in life expectancy along two train lines in
Range: Question 14:
~ Birmingham.
H"H Life expectancy 85 /- Four Oaks
Calculate the range in life expectancy Sl o
Shown in the map: 82 / Wyide Green
Handsworth ‘-V:?;" 82 /~ Chester Road
7'7 ~~i__Soho Jewellery 77 /Erdington
77 ._Quarter
77 L St Paul's ﬁf‘f 79 /~ Gravelly Hil
L 78 78\ New 76/ Aston

\
Ui

Moor T, _79 79
Street Bordesly S;T;all' —~ 78
Heath TYseley 7 Acocks
Green
Boumville «/ 80
Ke
King's Norton +f 80 Y
Q City centre
Northfield «/ 80 77 Life expectancy at birth
Lok, Train line 1

L. Tran hine 2

Interpolation is guessing datdhpoitits thagabf the data you have, i.e. between your
guessing data points from beyond the range of your data set.

/ This graph shows extrapolating data. We can
estimate data in the future

What does interpolate trends mean?

When a value is found beyond the data set by
making a prediction

Height

When a value is found within the data set using
the line of best fit

When a value cannot be found using a line of best
fit




el I i il T
1

Interquartile Range
| Question 15

Students measured the flow of water in two different rivers over 7 days. The table shows the
results, in rank order, for the two rivers.

River A (Flow in River B {Flow in
cubic metres / cubic metres /
second) second)
6.2 1.8
Upper quartile — 6.0 10.4
5.6 8.7
5.2 5.1
5.0 2.1
Lower quartile — 45 14
a7 1.2
Median 5.2 5.1
Interquartile range |1.5

(a}) Complete the table by calculating the interquartile range for River B.

imr- - - -"-"=-""-""="-""-""="-"""="=""=""=""="="="="="="="="=-"=-"==-=

(1)
(b}  Suggestwhy median and intergquartile values are useful when comparing data such as that
shown in the table.

:::::::::::::::::::::::::::::::::::::::::::::::I
: Percentage Change: I
1

1
. ) ) |
: Questi6Romplete the scatter graph below using the data and then draw a line of bg
! :
! 1
: Figure T ‘ I
I myestigation: Changing Width of & Biver furtber downstresm 5 e I
1 Distance from start [m) | Width [m) | o !
1 1] | 2.40 | % 4 [ :
| M | 373 % 3 |
| T4 1.3 E . ¢ 1
1 | 1.8 § 2 1
| &0 FET 1 |
: 100 a7% |
180 .04 0 |
I 0 20 40 60 80 100 120 140 I
I ‘ | ? Distance from starting point (m) I
! 1

1
1 There is no caofEheieris a strong positive correlation / There is a strong negative correlation :

1
) 1
: Questi@nalculate the percentage increase in width frashdieystarfimgrkioigt to 120m [ 1
! :
! I
! 1
! I
! 1
! I
! 1
! I



PardSectiBRractis®UIRieldwork

! We completed 2 fieldtrip, one huninindlel dlaBEyanciiato to study Urban'

i toCarding Mill MaBeydy Rivers. |

| Carding Mill Valley Z1

What is our title?

What is our aim?

Why was it a good location for our fieldwork?

Wite the title of your physical geography fieldwork enguiry.

Title of fieldwork enquiry

Explain why the chosen location was suitable for the collection of data.

I
|
I
|
I
|
I
|
I
|
I
|
I

[2 marks] :
|
I
|
I
|
I
|
I
|
I
|
I



' AREA 2 METHODS your chosen methods for your human and physical fieldwork

Brindley Place: Y3 BRINDLEY

The place.

Carding Mill Valley: 22

Method 1: Questionnaire

Method 1: Questionnaire

Advantages Disadvantage Advantages Disadvantage
Metid: Pedestrian Count Metid: Pedestrian Count
Advantages Disadvantage Advantages Disadvantage

MethodEfivironmental Quality Survey
Advantages Disadvantage

Methodtgivironmental Quality Survey
Advantages Disadvantage

Brindley Place: Y 1, CardingWilley: Z2, Z3 or Z4

For one of your methods answer the following q For one of your methods answer the following

Name of Method Name of Method

Describe how used

Describe how used

What sampling strategy did you use and why? What sampling strategy did you use and why?

Why was this methods useful for this fieldwork? Why was this methods useful for this fieldwork?

1
( Thi s do e s ndhere yomenast tellite@amied @ o Hred meh heo dpsarticul ar /7:
|
1



Justify one pnmary data collection method used in your physical geography enguiry.
[3 marks]

Explain the advantage(s) of the location(s) used for your fieldwork enguiry.
[2 marks]

 AREA 3 Analysis

|
|
a) How do we presenid8iTtaYayour chosen methods of data presentation 1
b) How do we interp@wbat statistical tests did we use and why? :

| Brindley Plaé¢piesentation) Carding Mill Valley: z7

|
What iscatter graph?

What is a rada@r graph
Why did we use one fent@lgeality@sunvey Why did we use a scatter graph to plot river discha:
I
|
What s a negative of th

What could we have used instead?

1
[
1
[
1
[
1
[
1
[
: What could we have used instead?
1

[

1

[

[-——————————————————

|
I

|

I

|

I

|

I

|

I

What s a negative of t hl
I

|

I

|

I

|

I

|

I



For Level 3 (detailed).
Developed
explanation of how
the identified
technique aided
interpretation (eg
made it easier to
identify
patterns/examine

[6 marks] relationships/identify
anomalies).

Explain how one data presentation technigue used in your human geography enquiry
helped you to interpret the data.

Brindley P¥@¥statistics) \!' carding Mill ¥@i{statistics)

-
|
|

Whatatistical test didgaénwssdore on our q@estionnaly We used a maths test ¢ cJI

'l betweesr discharge and distance from source. We j

:' relationship. I

What statistical test did we use to gain a score for o] ! 1

1, What does this mean for our hypothesis? :

|
|
|

=

|

|

|

|

|

|

|

|

|

I 1
I What statistical test did we use to gain a score forol |
I 1
: ' could you sketch a positive relationship as a (scatt
|

|

|

|

|

|

|

|

|

|

|

Why benetits airage score for each of these methc: :

hypottresis 1



AREAARalysi AM PRACTICE:

Write the title of your human geography fieldwork enquiry.

Title of fieldwork enquiry

Explain how one statistical method of analysis helped you reach conclusions to your fieldwork?
[6 marks]




| . . I . .
, Brindley Place: Y7&8 1, Carding Mill Valley Z9&10
I Iy
What conclusion did we reach? I} What conclusion did we reach?
Iy
3
Iy
3
Iy
3
What were the positives with our fieldwork? ' What were the positives with our fieldwork?

't What were the negatives?

|
|
|
|
|
|
|
|
|
|
| I
|
|
|
|
: What were the negatives? I
|
|
|
|

' Exam Préeioaclusions & Evaluation

For one of your fieldwork enquiries, assess the extent to which the accuracy of the
results and the reliability of the conclusions could be improved.
[9 marks]
[+3 SPaG marks]

Title of fieldwork enquiry




' Exam Pré&iopeclusions & Evaluation

| For one of your geography enquines, to what extent were results of this enguiry
helpful in reaching a reliable conclusion(s)?

Title of fieldwork enquiry:

[9 marks]
[+ 3 SPaG marks]

Valid conclusions® can be interpreted in differe
Theesponse should be seen in relation to theeiddive tiakengerpboltdmeng data.

Students might consider the amount of datationghe spread of data (across

Students might consider the question iadgrms of reliability/accur

The question can be considered in relationewitietiterimary and secondary

It is expected t hat thetaimsa the esquiry ard the extentte whithe thedidias allofvéd

Results may be evaluated in relation to accuracy, sample sizes, samplinglsitategieshand aédatddsisedieldso
which the results were collected. Any of theshdamtorsmmfimbddynpf deigesults.

The contribution of the results in relation to the overall conclusion shouldobeveedusidd kot Hetse reastmedhicor
A judgement abauwdetigation could be improved should be made.



